DESIGN AND DATA ANALYSIS IN PSYCHOLOGY II. 
FINAL EXAM.
June, 2012
Exercise 1. 
ANOVA
	Model
	Sum of squares
	df
	Mean square
	F
	Sig.

	1
	Regression

Residual

Total
	43.060

19.873

62.933
	1
13
	43.060
1.529
	28.168
	.000


Exercise 2. 
U=18.5>U=17. We can admit the psychologist’s hypothesis.
Exercise 3. 
t=-0.62<t(0.05,10)=2.228. There are not statistical differences between both groups.

Exercise 4. 
a) 
[image: image1.wmf]2

1

y

R

=0.152


[image: image2.wmf]2

)

1

.

2

(

y

R

=0.534


[image: image3.wmf]2

)

12

.

3

(

y

R

= 0.024
b) 







Exercise 5. 
Y’=-0.039+0.564X1+0.7045X2
[image: image4.wmf]
























































































































0.024





0.534





0.152





X1





X2





X3


































































































































































































Y







































































_1244475860.unknown

_1244475861.unknown

_1402370990.unknown

_1244475859.unknown

